
Installation manual
Sensor Mounting Accessory for Semi-Hidden winch mount
Product number: M6750
Application: 2017 Mercedes sprinter van



Provided materials

• 7/16” SOCKET WRENCH

• 7/16” COMBINATION WRENCH

TOOLS REQUIRED

Disassemble the vehicle where you 
can catalog and store everything. 
We suggest labeling and bagging all 
the OEM bolts when removing from 
the vehicle. Failure to keep track of 
parts could lead to an inability to 
properly reinstall components.

Organization

We recommend two people 
perform the installation as items 
are heavy and may need to be held 
in place while installing.

assistance

M6750



3

Fab Fours 
Identification

Component 
Description

QTY

50373-HW 1/4"-20 x 1", Yellow-zinc, Grade 8, Hex head cap screw 2

50373-HW 1/4"-20, Yellow-zinc, Grade 8, Hex nut 2

50373-HW 1/4"-SAE, Yellow-zinc, Grade 8, Flat washer 4

50373-HW 1/4"-SAE, Yellow-zinc, Grade 8, Lock washer 2

Hardware kit | M6750-IM



1.	 Using a 7/16” socket and combination wrench, install the provided M6750 bracket to the N465X shell 
lightbar tabs with the provided 1/4” hex head screws, flat and lock washers, and nuts. Figure 1

2.	 Using the provided epoxy, adhere the factory sensor housings to the inside of the M6750 in the same 
orientation in which they were removed from the factory bumper. The harness retainers should be facing 
down toward the d-ring cutouts. Figure 2

3.	 The parking sensors can be clipped back into their respective housings. 

4.	 Continue installation of your bumper with the N465X-IM.



5

Fab Fours Inc.
2213 Industrial Park Road
Lancaster, SC 29720

Phone: (866) 385-1905
Fax: 970-385-1914
Email: support@fabfours.com
fabfours.com

Contact information



“If you’re looking for more of the same,
Then you’ve come to the wrong place.”

- Greg Higgs


